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    (A) ∑δQ/T = 0       (B) ∑δQ/T < 0    (C) ∑δQ/T > 0    (D) ∆S > 0 

6. $%&��]�O��_��p���o�� 

      NiO(s)�CO(g) = Ni(s)�CO2(g) 

      H2O(l)�CO(g)= H2(g)�CO2(g) 

      NiO(s)�H2(g) = H2O(l)�Ni(s) 
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    (A)  3                 (B)  4             (C)  5             (D)  6 
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�ûÇ CO2(g) + H2(g)=CO(g) + H2O(g) 
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2̈0©ª  «¬ Ag(s)│AgBr(s)│Br- (a­0.1)││   Cl- (a­0.1) │AgCl(s)│Ag(s) ® 283¯313K°±²«³´µ¶·¸¹º» E/V­0.153¼1.820×10-4 T̈¼273Kª½ 

(1) ¾¿ÀÁÂÃÄÀÅÂÃÆÇ2ÈÉÊ 298K ËÌ¾ÀÅÂÃÍ∆rGmÎ∆rSmÎ∆rHm
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∆rCp,mÏ ÐÑÇ
20ÒÈ ÓÔÕÖ×ØÙÚÛÂÃÜA(g) = B(g) + ½C (g)ÝÂÃÞßàáA(g)ÝâãA(g)
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   660 ø   39.0 kPa      1600 s 

   720 ø   48.0 kPa      212 s ùÉÊÜÇ
1ÈúÂÃÓ 660øËÍÂÃûüýþ k
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